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Illustrative Examples

1. Show that the points (3,0),(6,4) and (-1,3) are the

vertices of a right angled isosceles triangle.

h id l i

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_zF2VYFhxWbLg


Watch Video Solution

2. Find the point on the y-axis which is equidistant

from the points (2,3) and (-1,2).

Watch Video Solution

3. If the three points (a,b),

are the vertices of an equilateral triangle , then which

of the following is true and why ? 

(i)  , (ii)  

(iii)  , (iv) 

h id l i

(a + k cosα, b + k sinα) and (a + k cos β, b + k sinβ)

|α − β| =
π

4
|α − β| =

π

2

|α − β| =
π

6
|α − β| =

π

3

https://dl.doubtnut.com/l/_zF2VYFhxWbLg
https://dl.doubtnut.com/l/_2O9q2B6ImJIb
https://dl.doubtnut.com/l/_ca9DzPlrGdme


Watch Video Solution

4. Find the circumcentre and circumradius of the

triangle whose vertices are (3,4) , (3,-6) and (-1,2).

Watch Video Solution

5. Show that , if the four points (-7,2),(19,8),(15,-6)and

(-11,-12) are joined successively , then a parallelogram

will be formed .

Watch Video Solution

https://dl.doubtnut.com/l/_ca9DzPlrGdme
https://dl.doubtnut.com/l/_csBhjJXdw5xI
https://dl.doubtnut.com/l/_yxLnV1caX3du


6. Show that the four points (2,5),(5,9), (9,12) and (6,8)

when joined in order , form a rhombus .

Watch Video Solution

7. the coordinates of the vertices A,B,C of the triangle

ABC are (7,-3) , (x,8) and (4,y) respectively , if the

coordinates of the centroid of the triangle be (2,-1) ,

find x and y.

Watch Video Solution

https://dl.doubtnut.com/l/_A9zfkGTxWVb1
https://dl.doubtnut.com/l/_HNL2aSC2EDYV


8. The coordinates of the vertex A of the triangle ABC

are (7,-4) . If the coordinates of the centroid of the

triangle be (1,2) , find the coordinates of the mid -

point of the side .

Watch Video Solution

¯̄̄ ¯̄¯BC

9. The coordinates of the points A and B are

 respectively , if ABC be an

equilateral triangle find the coordinates of C.

Watch Video Solution

(3, √3) and (0, 2√3)

https://dl.doubtnut.com/l/_6SefV3QZHGFo
https://dl.doubtnut.com/l/_TN0WZElUjiZ9


10. If the line - segment joining the points

 subtends an angle  at the

origin O, then find the value of .

Watch Video Solution

A(x1, y1) and B(x2, y2) α

cosα

11. Show that the straight line joining the points

(4,-3) and (-8,6) passes through the origin .

Watch Video Solution

12. Find the condition that the points (a,b),(b,a)and

 are in a straight line .(a2, − b2)

https://dl.doubtnut.com/l/_iC3OlGaW2c07
https://dl.doubtnut.com/l/_ZqsCpLAxFEp1
https://dl.doubtnut.com/l/_UoDaWowDM5Qd


Watch Video Solution

13. Find the value of x for which the area of the

triangle with vertices at (-1,-4),(x,1)and(x,-4) is 

square units .

Watch Video Solution

12
1
2

14. the point A,B,C have respective coordinates (3,4),

(-4,3) and (8,-6) . Find the area of  and the

length of the perpendicular from A on .

Watch Video Solution

ΔABC

¯̄̄ ¯̄¯BC

https://dl.doubtnut.com/l/_UoDaWowDM5Qd
https://dl.doubtnut.com/l/_LeqOOLybcRrF
https://dl.doubtnut.com/l/_rBOaZ1LysqQN


15. If  as well as  are in A.P. with the

same common difference , then show that the points

 are collinear.

Watch Video Solution

x1, x2, x3 y1, y2, y3

(x1, y1), (x2, y2) and (x3, y3)

16. The points A,B,C,D have the respective coordinates

(-2,-3),(6,-5) , (18,9) and (0,12) . Find the area of the

quadrilateral ABCD.

Watch Video Solution

https://dl.doubtnut.com/l/_je6knjtYhlGX
https://dl.doubtnut.com/l/_JFd2hyFEAQZW


17. The coordinates of the points A,B,C,D are (0,-1),

(-1,2),(15,2) and (4,-5) respectively . Find the ratio in

which  divides .

Watch Video Solution

¯̄̄ ¯̄¯AC ¯̄¯̄¯̄BD

18. If the vertex of a triangle is (1,1) and the the mid -

points of two sides through this vetex are (-1,2) and

(3,2) , them find the coordinates of the centroid of

the triangle .

Watch Video Solution

https://dl.doubtnut.com/l/_atZehV5rvhkf
https://dl.doubtnut.com/l/_1mjLTCAioOXh


19. Find the value of x for which the points (x+1,2),

(1,x+2)and  are collinear .

Watch Video Solution

( , )
1

x + 1

2

x + 1

20. The coordinates of the points O,A and B are (0,0),

(x,y) and (y,x) respectively . If , then find

the value of  .

Watch Video Solution

∠AOB = θ

cos θ

21. If  are the

vertices of a parallelogram taken in order, then the

A(3, 5), B( − 5, − 4), C(7, 10)

https://dl.doubtnut.com/l/_lYm7rTOZOorE
https://dl.doubtnut.com/l/_XcZC6kfBGLem
https://dl.doubtnut.com/l/_uwTI8WJeureZ


coorinates of the fourth vertex are:

Watch Video Solution

22. The coordinates of the mid -point of the sides of a

triangle are (0,1) (1,1)and (1,0),find the coordinates of

the triangle.

Watch Video Solution

23. find the area of the triangle formed by the lines

y=0, x+y=0 and x-4=0

Watch Video Solution

https://dl.doubtnut.com/l/_uwTI8WJeureZ
https://dl.doubtnut.com/l/_Sd3udAMuc3Fk
https://dl.doubtnut.com/l/_EBFR74DZervu


24. If the coordinates of the vertices of a triangle ABC

be (3,0), (0,6)and (6,9)and if D and E respectively

divide  internally in the ratio 1:2 , then

show that the area of x the area of 

.

Watch Video Solution

¯̄̄ ¯̄¯AB and ¯̄̄ ¯̄¯AC

ΔABC = 9

ΔADE

25. What does the equation  become if

the axes are transferred to parallel axes through the

point (a,b)?

Watch Video Solution

+ = 1
x

a

y

b

https://dl.doubtnut.com/l/_EBFR74DZervu
https://dl.doubtnut.com/l/_KOqzqILp1Exs
https://dl.doubtnut.com/l/_qaYQXFjdDEtG


26. Transform the equations 

 to parallel axes through

the point (1,-2).

Watch Video Solution

2x2 + y2 − 4x + 4y = 0

27. Transform the equation 

 to parallel axes through

the point (1,-2).

Watch Video Solution

3x2 + 2y2 − 4x + 3y = 0

https://dl.doubtnut.com/l/_qaYQXFjdDEtG
https://dl.doubtnut.com/l/_yBrMGt162l8K
https://dl.doubtnut.com/l/_rH5AknhnukiP


28. find the new origin on the x-axis so that the

equation ax+by+c=0 reduce to the form ax+by=0

Watch Video Solution

29. Find the point to which the origin should be

shifted after a translation of axes , so that the

equation  will

have no first degree terms.

Watch Video Solution

3x2 + 8xy + 3y2 − 2x + 2y − 2 = 0

https://dl.doubtnut.com/l/_MBuZI0Mik28t
https://dl.doubtnut.com/l/_5UwDwTapugEq


30. Reduce the equation 

to the form  by proper translation of

axes without rotation .

Watch Video Solution

5x2 − 2y2 − 30x + 8y = 0

ax2 + by2 = 1

31. Prove that the area of a triangle is invariant under

the translation of the axes .

Watch Video Solution

32. Retaining the directions of axes , the origin is

shifted at (a,b), find (a,b) , given that the point (-2,3)

https://dl.doubtnut.com/l/_2VklI6wJkX81
https://dl.doubtnut.com/l/_SmyMqSYfzfTH
https://dl.doubtnut.com/l/_FAICa38uLAJL


lies on the new x - axis and the point (-3,2) lies on the

new y-axis .

Watch Video Solution

33. A point moves in such a manner that 3 times its

distance from the x-axis is greater than 4 times its

distance from the y-axis by 7 , find the equation of its

locus .

Watch Video Solution

34. Find the equation to the locus of a moving point

which is always equidistant from the points (2,-1) and

https://dl.doubtnut.com/l/_FAICa38uLAJL
https://dl.doubtnut.com/l/_ueKDJnsH8Qog
https://dl.doubtnut.com/l/_F9Y23Tb6UAMf


(3,2). What curve does the locus represent ?

Watch Video Solution

35. A and B are two given points whose coordinates

are (-5,3) and (2,4) respectively . A point P moves in

such a manner that  . Find the

equation to the locus traced out by P. What curve

does it represent?

Watch Video Solution

PA :PB = 3: 2

36. Find the locus of a point which forms a triangle of

area 21 square unit with the points (2,-7) and (-4,3).

https://dl.doubtnut.com/l/_F9Y23Tb6UAMf
https://dl.doubtnut.com/l/_ZxmbOBrZjWH8
https://dl.doubtnut.com/l/_KCvmqgcMVG04


Watch Video Solution

37. The sum of the distances of a moving point from

the points (c,0) and (-c,0) is always 2a unit  .

Find the equation to the locus of the moving point.

Watch Video Solution

(a > c)

38. The sum of the intercepts cut off from the axes of

coordinates by a variable straight line is 10 units .

Find the locus of the point which divides internally

the part of the straight line intercepted between the

axes of coordinates in the ratio .2: 3

https://dl.doubtnut.com/l/_KCvmqgcMVG04
https://dl.doubtnut.com/l/_U79r5OdspM8c
https://dl.doubtnut.com/l/_O7MSZQjxmCk9


Watch Video Solution

39. For all values of  , the coordinates of a moving

point P are  , find the equation to the

locus of P.

Watch Video Solution

θ

(a cos θ, b sin θ)

40. The coodinates of any position of a moving

points P are given by , where t is

variable parameter Find the equation to the locus of

P.

Watch Video Solution

( , )
7t − 2
3t + 2

4t + 5
t − 1

https://dl.doubtnut.com/l/_O7MSZQjxmCk9
https://dl.doubtnut.com/l/_J2flfHXgVqiQ
https://dl.doubtnut.com/l/_pCbsredKeGRg


41. The coordinates of a moving point P are

, where  is

a variable parameter Show that , the , the equation

to the locus of P is .

Watch Video Solution

[ (cosesθ + sin θ), (cosesθ − sin θ)]
a

2
b

2
θ

b2x2 − a2y2 = a2b2

42. If  is a variable and a,b are constants then find

the locus of the point of intersection of the lines

.

Watch Video Solution

θ

x sin θ + y cos θ = a and x cos θ − y sin θ = b

https://dl.doubtnut.com/l/_pCbsredKeGRg
https://dl.doubtnut.com/l/_WeToSrliPG9F
https://dl.doubtnut.com/l/_jwlsLQocdUKv


Exercise 1 Mcq

1. The abscissa of any point on y -axis is -

A. 0

B. 1

C. 

D. none of these

Answer: A

Watch Video Solution

−1

https://dl.doubtnut.com/l/_3IMZvaLrCv3v


2. If the axes are transferred to parallel axes throught

the point (0-4) , then the equation 

reduces to the form -

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

4x + 3y + 12 = 0

4x + 3y = 5

4x + 3y = 2

4x + 3y = 0

4x − 3y = 0

https://dl.doubtnut.com/l/_SEfWu4L3m2HJ


3. If the axis are transferred to parallel axis throught

the point , then equation of the circle 

 reduces to the form-

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(α, β)

(x − α)2 + (y − β)2 = a2

x2 + y2 = a2

x2 + y2 = α2

x2 + y2 = β2

x2 + y2 = 0

https://dl.doubtnut.com/l/_6VpxKorYHnx4


4. The square of the distance between the points (x,-

y) and (-x,y) is -

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2(x2 + y2)

x2 + y2

4(x2 + y2)

2x2 + 4y2

https://dl.doubtnut.com/l/_xZ8q6w83swU2


5. The coordinates of the mid -point of line -segment

joining the points (a,-b) and (-a,b) are -

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

( , 0)
a

2

(0, 0)

(0, )
b

2

( , )
a

2
b

2

https://dl.doubtnut.com/l/_heK0EFMgWW7C


6. A diameter of a circle has the extreme points (7,9)

and (-1,-3) . The coordinates of the centre of the circle

are -

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

( − 3, 3)

( − 3, − 3)

(3, − 3)

(3, 3)

https://dl.doubtnut.com/l/_JeMoCS9H46My


7. The coordiantes of the centroid of the triangle

fromed by the points

 are -

A. (-3,3)

B. (-3,-3)

C. (3,-3)

D. (3,3)

Answer: C

Watch Video Solution

(x − y, y − z), ( − x, − y) and (y, z)

https://dl.doubtnut.com/l/_bP5cVVL3VwW1


8. If twice the abscissa of a point moving in the xy -

plane always exceeds three times its ordinate by 1,

then the locus of the points is a-

A. circle

B. straight line

C. parabola

D. none of these

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_uS3Yw8HbV5ge


9. For all values of  , the coordinates of a moving

point P are , the locus of P will be a-

A. circle

B. straight line

C. parabola

D. none of these

Answer: A

Watch Video Solution

θ

(a cos θ, a sin θ)

https://dl.doubtnut.com/l/_LHw3SVUZqYn5


10. If the square of distance of a moving point from

the point (2,0) is equal to 4 units , then the locus of

the moving point is a -

A. straight

B. circle

C. hyperbola

D. parabola

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_cJrUipvadMm8


11. The point P lies on 3rd quadrant and its distances

from x- axis and y -axis are 6 and 4 respectively . The

coordinates of P will be -

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

( − 6, − 4)

( − 4, − 6)

(6, − 4)

( − 6, 4)

https://dl.doubtnut.com/l/_2oTPznqZDtar


12. When the origin is shifted (retaining the direction

of the axis) at the point (-5,9) ,then the coordinates

of the point (3,4) will be -

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

( − 8, − 5)

( − 8, 5)

(8, − 5)

(8, 5)

https://dl.doubtnut.com/l/_hZPA5sD0uqb5


13. AB is a diameter of a circle having centre at C , if

the coordinates of A and C are (6,-7) and (5,-2)

respectively , then the coordinates of B will be -

A. (4,3)

B. 

C. 

D. 

Answer: A

Watch Video Solution

( − 4, 3)

(4, − 3)

( − 4, − 3)

https://dl.doubtnut.com/l/_bwX3wf0o3yZQ


14. The centroid of the triangle formed by the points

(1,2),(2,4)and (-3,6) is -

A. (0,0)

B. (0,4)

C. (4,0)

D. (4,4)

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_Us8SA2ZjDZZZ


15. (a , 2b ) divides the line segment joining by the

points (3a,0),(0,3b) in the ratio-

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1: 2

2: 1

1: 3

3: 1

https://dl.doubtnut.com/l/_4PlJR4KQ9J8m


16. A point moves in the xy -plan such that three

times its distance from the y- axis exceeds two times

its distance from the x- axis by 4. Then the equation

to the moving points is -

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2x − 3y = 4

3x + 2y = 4

3x − 2y = 4

3x − 2y + 4 = 0

https://dl.doubtnut.com/l/_9sEL6xwfqw0S
https://dl.doubtnut.com/l/_60Qkd4FknzNH


17. State in which of the following quadrants the

point  lies ?

A. first

B. second

C. third

D. fourth

Answer: B

Watch Video Solution

(√5 − 3, √5 − 2)

https://dl.doubtnut.com/l/_60Qkd4FknzNH


18. The coordinates of a point referred to rectangular

axis  are (4,-3) , state which of the

following are the coordinates of the same point

when the axis are shifted to the point (-2,5) without

rotation ?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

←→
OX and

←→
OY

( − 6, 8)

(6, − 8)

( − 6, − 8)

( − 8, 6)

https://dl.doubtnut.com/l/_hnCmzjhFT2k8


19. If the points 

are collinaear then value of mn is -

A. 1

B. 

C. -1

D. 1

Answer: C

Watch Video Solution

(am2, 2am), (an2, 2an) and (a, 0)

−2

https://dl.doubtnut.com/l/_hnCmzjhFT2k8
https://dl.doubtnut.com/l/_MZAw7u1SLwjQ


20. State which of the follwing is the distance

between the points

?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(a + b, c − d) and (a − b, c + d)

2√a2 + c2

2√b2 + d2

√a2 + c2

√b2 + d2

https://dl.doubtnut.com/l/_5Ax9tPIbqEG7


21. Which of the following is equal to the distance

between the points (-13,-11) and (-2,-9)`?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

5√10

5√3

2√30

5√5

https://dl.doubtnut.com/l/_SFA2UrFtTtao


22. the ditance between the points (x,-7) and (3,-3) is 5

unit , state which of the following are the values of x?

A. 0 or 6

B. 2 or 3

C. 5 or 1

D. 

Answer: A

Watch Video Solution

−6 or 0

https://dl.doubtnut.com/l/_8pF00VExumIm


23. State which of the follwing are the coordinates of

the mid - point of the line -segment joining the

points  ?

A. (l,m)

B. (l,-m)

C. (m,-l)

D. (m,l)

Answer: D

Watch Video Solution

(l, 2m) and ( − l + 2m, 2l − 2m)

https://dl.doubtnut.com/l/_zrdFkLcGNXWG


24. The point P divides the line -segmen joining the

points A (1,5) and B(-4,-7) internally in the ratio 

.State which of the following is the abscissa of P?

A. 

B. 11

C. 1

D. 

Answer: A

Watch Video Solution

2: 3

−1

−11

https://dl.doubtnut.com/l/_1kTnKDXwFa8f


25. A point divides the line -segment joining the

points (2,-5) and (-3,-2) externally in the ratio  .

State which of the follwing is the ordinate of the

point ?

A. 

B. 

C. 18

D. 7

Answer: D

Watch Video Solution

4: 3

−18

−7

https://dl.doubtnut.com/l/_exGUYpjyaVvz
https://dl.doubtnut.com/l/_Jv22sM7LI5eA


26. State which of the following are the coordinates

of the centroid of the triangle formed by joining the

points (7,-5),(-2,5) and (4,6) ?

A. (3,-2)

B. (2,3)

C. (3,2)

D. (2,-3)

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_Jv22sM7LI5eA


27. State which of the following is equal to the area

of the traingle formed by joining the points (0,4) ,

(0,0) and (-6,0) ?

A. 24 square unit

B. 12 square unit

C. 6 square unit

D. 8 square unit

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_XaNeEz7WD3uy


28. E is the mid - point of the diagonal AC of the

rectangle ABCD , if the coordinates of A and E are

(7,-8) and (2,-2) , then state which of the following are

the coordinates of C ?

A. (3,4)

B. (-3,-4)

C. (3,-4)

D. (-3,4)

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_Ve1OQUnbKmZo
https://dl.doubtnut.com/l/_6Cbrv2QTLzUw


29. State which of the following is equal to the area

of the triangle formed by joining the points (3,2) ,

(5,4) and (2,2) ?

A. 1 square unit

B. 2 square unit

C.  square unit

D. 6 square unit

Answer: A

Watch Video Solution

1

2

https://dl.doubtnut.com/l/_6Cbrv2QTLzUw


30. A point moves in the xy - plane in such a manner

that its distance from the origin is always 3 unit .

State which of the following is the equation to the

locus of the moving point ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x + y = 3

x2 + y2 = 3

x + y = 9

x2 + y2 = 9

https://dl.doubtnut.com/l/_4Os1BZpuUtJz


Exercise 1 Very Short Type Questions

1. The sides of the rectangle ABCD are parallel to the

coordinate axis. If the coordinates of the vertices B

and D be (7,3) and (2,6) respectively, find the

coordinates of the vertices A and C .

Watch Video Solution

2. Transform the equation

 to parallel axis through

the point (1,1).

Watch Video Solution

x2 + xy − 3x − y + 2 = 0

https://dl.doubtnut.com/l/_11ikepclPBEb
https://dl.doubtnut.com/l/_VZYIYecu3nMz


3. Transform the equation  to

parallel axes through the point (1,-2).

Watch Video Solution

y2 − 4x + 4y + 8 = 0

4. What does the equation

 become when the

origin is shifted to the point  without

rotation of axes ?

Watch Video Solution

(a − b)(x2 + y2) − 2abx = 0

( , 0)
ab

a − b

https://dl.doubtnut.com/l/_VZYIYecu3nMz
https://dl.doubtnut.com/l/_fOzG7JlQ5Fb5
https://dl.doubtnut.com/l/_DEIuIKfbPwUe


5. Retaining the directions of axes , the origin is

shifted to (h,k) , find (h,k) , given that the point (3,-1)

lies on the new x - axis and the point (-2,4) lies on the

new y - axis .

Watch Video Solution

6. Show that the distance between the points (1,1)

and  is the same for all values

of m .

Watch Video Solution

[ , ]
2m2

1 + m2

(1 − m)2

1 + m2

https://dl.doubtnut.com/l/_WKYjvR7P5XQh
https://dl.doubtnut.com/l/_41sbS3gBxA2F
https://dl.doubtnut.com/l/_bay3vJSfgMnM


7. The square of the distance between the points

(-2,a) and (a,-3) is 85 , find a .

Watch Video Solution

8. If the point (x,y) is equidistant from the points (2,-1)

and (-3,4) , then show that , y=x+2 .

Watch Video Solution

9. Find the condition so that the point (a,b) may be

equidistant from the points (8,4) and (-2,-4) .

Watch Video Solution

https://dl.doubtnut.com/l/_bay3vJSfgMnM
https://dl.doubtnut.com/l/_YiGy4JJxthu8
https://dl.doubtnut.com/l/_VoD7ixltpBez


10. Show that the points (2,2) , (-2,-2) and

 are the vertices of an equilateral

triangle .

Watch Video Solution

( − 2√3, 2√3)

11. Prove that the points (-1,5) , (3,2) and (-1,-1) are the

vertices of an isosceles traigle . Find the coordinates

of its centroid.

Watch Video Solution

https://dl.doubtnut.com/l/_VoD7ixltpBez
https://dl.doubtnut.com/l/_CvOsfsuCXplF
https://dl.doubtnut.com/l/_wCby1uklk048


12. Show that the points (6,6) , (2,3) and (4,7) are the

vertices of a right angled triangle

Watch Video Solution

13. Prove that the points (7,9) , (3,-7) and (-3,3) form a

right angled isoseles triangle .

Watch Video Solution

14. The coordinates of the points A and B are (2,4)

and (2,6) respectively . The point P is on that side of

https://dl.doubtnut.com/l/_rGtCHQDgSru9
https://dl.doubtnut.com/l/_VQ3xaa7vnhuM
https://dl.doubtnut.com/l/_iiuLn33TvUrQ


AB opposite to the origin . If PAB be an equilateral

triangle , find the coordinates of P.

Watch Video Solution

15. The centre of a circle is at (5,3) and its radius is 5 .

Find the length of the chord which is bisected at (3,2)

.

Watch Video Solution

16. If the point (x,y) be equidistant from the points

(a+b,b-a) and (a-b,a+b) , prove that bx =ay .

W t h Vid S l ti

https://dl.doubtnut.com/l/_iiuLn33TvUrQ
https://dl.doubtnut.com/l/_JzqiJJ1BMAzF
https://dl.doubtnut.com/l/_UICTEFjiMA65


Watch Video Solution

17. The base of an isosceles triangle is the line -

segment joining the points (7,-1) and (9,3) , if the

abscissa of the vertex be 4 find its ordinate .

Watch Video Solution

18. Find the ratio in which the point (1,2) divides the

line -segment joining the points (-3,8) and (7,-7) .

Watch Video Solution

https://dl.doubtnut.com/l/_UICTEFjiMA65
https://dl.doubtnut.com/l/_PN5bhqkh3ToJ
https://dl.doubtnut.com/l/_4WNEyM6iVPeX


19. Find the ratio in which the point (-5,-20) divides

the line -segment joining the points (4,7) and (1,-2) .

Watch Video Solution

20. In what ratio the line - segment joining the points

(3,4) and (2,-3) is divided by the x -axes ? Also find the

ratio in which it is divided by the y- axis .

Watch Video Solution

21. P is a point on the line - segment  such that

 , if the coordinates of A and B are (3,-4)

¯̄̄ ¯̄¯AB

¯̄̄ ¯̄¯AP = ¯̄¯̄̄ ¯̄¯3PB

https://dl.doubtnut.com/l/_EzQowNs66TtW
https://dl.doubtnut.com/l/_vpRmgevJ30G8
https://dl.doubtnut.com/l/_ZqsPXA6bfvba


and (-5,2) respectively , find the coordinates of P.

Watch Video Solution

22. The line -segment  is produced to Q such that 

 , if the coordinates of C and D are (4,7)

and (-2,4) respectively , find the coordinates of Q.

Watch Video Solution

¯̄¯̄¯̄CD

2̄ ¯̄̄ ¯̄CQ = 5̄ ¯̄¯̄¯DQ

23. Find the coordinates of the point of trisection of

the line - segment joining the points (-2,3) and (3,-1)

that is nearer to (-2,3) .

W t h Vid S l ti

https://dl.doubtnut.com/l/_ZqsPXA6bfvba
https://dl.doubtnut.com/l/_83mj39fVSXB1
https://dl.doubtnut.com/l/_Trn4bcnqlSo8


Watch Video Solution

24. Show that the line -segment joining the points

(8,3),(-2,7) and the line -segment joining (11,-2),(-5,12)

bisect each other .

Watch Video Solution

25. Find (x,y) if (3,2) , (6,3) , (x,y) and (6,5) are the

vertices of a parallelogram taken in order ,

Watch Video Solution

https://dl.doubtnut.com/l/_Trn4bcnqlSo8
https://dl.doubtnut.com/l/_2NohkwbulROR
https://dl.doubtnut.com/l/_whQuvYzS1QO3


26. If  be the

consecutive vertices of a parallelogram , show that ,

.

Watch Video Solution

(x1, y1), (x2, y2), (x3, y3) and (x4, y4)

x1 + x3 = x2 + x4 and y1 + y3 = y2 + y4

27. Find the coordinates of the point of intersection

of the medians of the triangle formed by joining the

points (-1,-2),(8,4) and (5,7).

Watch Video Solution

https://dl.doubtnut.com/l/_COOLXie2p7ey
https://dl.doubtnut.com/l/_oMALtmiSz6Zv


28. The coordinates of the vertices of a triangle are

(4,-3) , (-5,2) and (x,y). If the centre of gravity of the

triangle is at the origin then find x,y.

Watch Video Solution

29. The centroid of a triangle is (-1,-2) and coordinates

of its two vertices are (4,6) and (-8-12) . Find the

coordinates of its third vertex .

Watch Video Solution

https://dl.doubtnut.com/l/_lUU6NfTfV955
https://dl.doubtnut.com/l/_ELw0dMA16hfI


30. The coordinates of the vertices A ,B and C of the

triangle ABC are (-1,3),(1,-1) and (5,1) respectively . Find

the length of the median through the vertex A.

Watch Video Solution

31. For what value of k the points (1,-1) , (2,1) and (k,5)

shall be on the same straight line ?

Watch Video Solution

32. If the points (a,0),(0,b) and (1,1) are collinear , then

show that .+ = 1
1

a

1

b

https://dl.doubtnut.com/l/_DQ7uMMQoF7TJ
https://dl.doubtnut.com/l/_LhPVrljPQNlI
https://dl.doubtnut.com/l/_qoV4Jh4l85Os


Watch Video Solution

33. If the points (1,2) and (2,4) and (t,6) be collinear ,

find the value of t.

Watch Video Solution

34. Find the area of the triangle having vertices (1,4) ,

(-1,2)and (-4,-1) . Interpret the result .

Watch Video Solution

https://dl.doubtnut.com/l/_qoV4Jh4l85Os
https://dl.doubtnut.com/l/_9kAQqxaPnjGP
https://dl.doubtnut.com/l/_gIWtctnAGjD4


35. Find the area of the triangle having vertices

(a,b+c), (b,c+a) and (c,a+b) and interpret the result

geometrically .

Watch Video Solution

36. Show that the straight line joining the points

(-3,2) and (6,-4) passes through the origin .

Watch Video Solution

37. Examine the collinearity of the point (2,3),(4,5),and

(6,5) .

https://dl.doubtnut.com/l/_zhZ5fVFvouUp
https://dl.doubtnut.com/l/_GprI6aCKk2rQ
https://dl.doubtnut.com/l/_FH3e1dUep58Y


Watch Video Solution

38. If the A and B have coordinates

 respectively

and O is the origin then , then show that the area of

 is independent of  .

Watch Video Solution

(a cos θ, b sin θ) and ( − a sin θ, b cos θ)

ΔOAB) θ

39. What does the eqution  become if

the axes are transferred to parallel axes through the

point (a,b)

Watch Video Solution

+ = 2
x

a

y

b

https://dl.doubtnut.com/l/_FH3e1dUep58Y
https://dl.doubtnut.com/l/_9fdsO6OtWgYJ
https://dl.doubtnut.com/l/_Ix0uu4EjzW1u


40. A point moves in the xy - plane in such a way that

its distances from the x-axes and the point (1,-2) are

always equal . Find the eqution to its locus.

Watch Video Solution

41. A point moves such that its distance from the y-

axes is equal to its distance from the point (2,0). Find

its locus and identify the nature of the conic .

Watch Video Solution

https://dl.doubtnut.com/l/_Ix0uu4EjzW1u
https://dl.doubtnut.com/l/_I11dqZKh4hVS
https://dl.doubtnut.com/l/_h3aJLINp6OJl


Exercise 1 Short Type Questions

1. Coordinates of the vertices A,B,C of a triangle ABC

are (m+3,m),(m,m-2)and (m+2,m+2) respectively Show

that the area of the triangle ABC is independent of m

.

Watch Video Solution

2. Find the coordinates of the point which is

equaidistant from the points (-1,3),(2,-2) and (4,6).

Watch Video Solution

https://dl.doubtnut.com/l/_klGXjxqExMxc
https://dl.doubtnut.com/l/_AXGn8fs5aUg3
https://dl.doubtnut.com/l/_DVV3oOFsr8B2


3. Find the circumcentre of the triangle formed by

the points (-3,1) , (1,3) and (3,0) .

Watch Video Solution

4. The coordinates of the vertices of a triangle are

(0,0) , (5,3) and (3,5) respectively , find the

circumcentre and circumradius of the triangle .

Watch Video Solution

5. The coordinates of the circumcentre of the triangle

ABC are (8,3) , if the coordinates of the vertices A,B

https://dl.doubtnut.com/l/_DVV3oOFsr8B2
https://dl.doubtnut.com/l/_BKUbDmAA3Ahz
https://dl.doubtnut.com/l/_YOQnXbBnpWk0


and C be (x,-9),(y-2)and(-5,3) respectively , find the

values of x and y.

Watch Video Solution

6. Prove that the points (2,-2) ,(8,4), (5,7) and (-1,1) are

the vertices of a rectangle , find the area of the

rectangle.

Watch Video Solution

7. Show that the points (-2,-1),(5,4),((6,7) and (-1,2) are

the vertices of a parallelogram .Is the parallelogram a

rectangle ?

https://dl.doubtnut.com/l/_YOQnXbBnpWk0
https://dl.doubtnut.com/l/_4xMyNH2jGJy0
https://dl.doubtnut.com/l/_1i0u1wuyjP0R


Watch Video Solution

8. Prove that the four points (4,3),(6,4),(5,6) and (3,5)

are the vertices of a square.

Watch Video Solution

9. Prove that the points (0,0),(0,10),(8,16)and (8,6)are

the vertices of a rhombus , find the area of the

rhombus. Show also that the diogonal of the

rhombus intersect at right angle

Watch Video Solution

https://dl.doubtnut.com/l/_1i0u1wuyjP0R
https://dl.doubtnut.com/l/_guVvhljtClMN
https://dl.doubtnut.com/l/_DClNqTtIZXKC


10. If the point (0,4) divides the line-segment joining

the points (-4,10) and ( 2, 1), internally in a definite

ratio , find the coordinate of the point which divide

the segment externally in the same ratio.

Watch Video Solution

11. The straight line joining the points (2, -2)and (4, 6)

extended each way a distance equal to half it own

length. Determine the coordinate of the terminal

point.

Watch Video Solution

https://dl.doubtnut.com/l/_KRvtS79fEOrt
https://dl.doubtnut.com/l/_Wy1uXduNQlVG
https://dl.doubtnut.com/l/_o2S4okAhDbJW


12. The coordinates of the vertex A of  ABC are (2,5),

if the centroid of the triangle at (-2,1), find the

coordiinates of the mid-point of the side  .

Watch Video Solution

Δ

¯̄̄ ¯̄¯BC

13. The area of the trianglr formed by joining the

points (2,7), (5,1) and (x.3)is 18 square units . Find x

Watch Video Solution

14. Prove that the points (-4,-5) ,(9,8)and the mid-

point of the line-segment joining the point (2,1) and

https://dl.doubtnut.com/l/_o2S4okAhDbJW
https://dl.doubtnut.com/l/_XcNtWWRLfHtV
https://dl.doubtnut.com/l/_OUX7hk7wMCjK


(6,5) are on the same straight line

Watch Video Solution

15. Find the value of m for which the area of the

triangle having vertices at (-1,m) , (m-2,1) and (m-2,m)

is  square units .

Watch Video Solution

12
1

2

16. The vertices A,B and C of  have coordinates

(-3,-2),(2,-2) and (6,1) respectively . Find the area of the

 and the length of the perpendicular from A

on .

ΔABC

ΔABC

¯̄̄ ¯̄¯BC

https://dl.doubtnut.com/l/_OUX7hk7wMCjK
https://dl.doubtnut.com/l/_3WbkzgMBRmH2
https://dl.doubtnut.com/l/_jC79KmxKM4xX


Watch Video Solution

17. Prove that the points

 can never be

collinear.

Watch Video Solution

(p, p2), (q, q2) and (r, r2)(p ≠ r)

18. Find the area of the vertices A,B,C and D of the

quadrilateral whose vertices have coordinates (1,1) ,

(3,4),(5,-2) and (4,-7).

Watch Video Solution

https://dl.doubtnut.com/l/_jC79KmxKM4xX
https://dl.doubtnut.com/l/_yEwDbLX3W4JG
https://dl.doubtnut.com/l/_3mB6t9SPBcHT


19. The coordinates of the vertices A,B,C and D of the

quadrilateral ABCD are (1,2) , (-5,6) , (7,-4) and (k-2) , if

the area of the quadrilateral be zero , then find the

value of k.

Watch Video Solution

20. What does the equation

 become if

the axis are tranferred to parallel axis through the

point (2,3) ?

Watch Video Solution

3x2 + 2xy + 3y2 − 18x − 22y + 50 = 0

https://dl.doubtnut.com/l/_XnLfp2TbmJdh
https://dl.doubtnut.com/l/_Ggx1AFv54z1z
https://dl.doubtnut.com/l/_4C4DMbCkhiRD


21. Find the point to which the origin should be

shifted after a translation of axis so that the

following equations will have no first degree terms : 

(i)  , (ii)

Watch Video Solution

x2 + y2 − 4x − 8y + 3 = 0

x2 + y2 − 5x + 2y − 5 = 0

22. Verify that the area of the triangle with vertices

(6,2), (-3,4) and (4,-3) remains unaltered under the

translation of axis when the origin is shifted to the

point (2,-1).

Watch Video Solution

https://dl.doubtnut.com/l/_4C4DMbCkhiRD
https://dl.doubtnut.com/l/_dLEnZKcDGOkl


23. The distance of a point P from the striaght line

x=-4 is equal to its distance from the point (3,0) . Find

the equation to the locus of P.

Watch Video Solution

24. A point P(x,y) moves in the xy - plane in such a way

that its distance from the point (0,4) is equal to  rd

of its distance from the x axis , find the equation to

the locus of P.

Watch Video Solution

2

3

https://dl.doubtnut.com/l/_dLEnZKcDGOkl
https://dl.doubtnut.com/l/_WUzD5JSu5E15
https://dl.doubtnut.com/l/_3WYZTLK9DWnX
https://dl.doubtnut.com/l/_gTiJUt3gxwOm


25. A point moves in a plane such that its distance

from the point (2,3) exceeds its distance from the y-

axis by 2 . Find the equation to the locus of the point

.

Watch Video Solution

26. Find the locus of a point which moves so that the

sum of the squares of its distances from the points

(3,0) and (-3,0) is always equal to 50.

Watch Video Solution

https://dl.doubtnut.com/l/_gTiJUt3gxwOm
https://dl.doubtnut.com/l/_i9MY08uuNPlT


27. Find the equation to the locus of a moving point

which is equidistant from the points (2,3) and (4,-1).

Watch Video Solution

28. The coordinates of a moving point P are

, where t is a variable parameter . Find the

equation to the locus of P.

Watch Video Solution

(at2, 2at)

29. If  is a variable , find the equation to the locus of

a moving point whose coordinates are

θ

https://dl.doubtnut.com/l/_l7PcvFHjY9gV
https://dl.doubtnut.com/l/_Thts0DIJkce7
https://dl.doubtnut.com/l/_7GvuwBgyMa4O


Watch Video Solution

(a secθ, b tan θ)

30. The ratio of the distances of a moving point from

the points (3,4) and (1,-2) is 2:3 , find the locus of the

moving point.

Watch Video Solution

31. A point so moves that the sum of squares of its

distances from (a,0) and (-a,0) is . Find the

equation to the locus of the moving point . If a=b

then what will be the locus of the moving point?

2b2

https://dl.doubtnut.com/l/_7GvuwBgyMa4O
https://dl.doubtnut.com/l/_wOEbGEbf3z0n
https://dl.doubtnut.com/l/_jwW95OC7Oof5


Watch Video Solution

32. A(1,2) and B (5,-2) are two given point on the xy-

plane, on which C is such a moving point, that the

numerical value of the area of CAB IS 12 square unit.

Find the equation to the locus of C.

Watch Video Solution

Δ

33. A moving point is always collinear with the point

(2,-1) and (3,4) , find the equation to the locus of the

moving point

Watch Video Solution

https://dl.doubtnut.com/l/_jwW95OC7Oof5
https://dl.doubtnut.com/l/_RbfILzaOu6sl
https://dl.doubtnut.com/l/_ydfyq5pyPquu


34. Find the equation to the locus of the moving

point which is equidistant from the point (2a, 2b) and

( 2c,2d). Interpret geometrically the equationto the

locus .

Watch Video Solution

35. The coordinates of a moving point P are

, where t is a variable parameter .

Find the equation to the locus of P.

Watch Video Solution

(ct + , ct − )
c

t

c

T

https://dl.doubtnut.com/l/_ydfyq5pyPquu
https://dl.doubtnut.com/l/_5pD48jA8a8Gi
https://dl.doubtnut.com/l/_JQnxeM9Qu4bt


36. The sum of the distances of a moving point from

the points (3,0) and (-3,0) is always equal to 12 . Find

the equation to the locus and identify the conic

represented by the equation.

Watch Video Solution

37. Find the equation to the locus of a moving point

which moves in such a way that the difference of its

distance from the points (5,0) and (-5,0) is always 5

unit.

Watch Video Solution

https://dl.doubtnut.com/l/_z9ezQnNypmHD
https://dl.doubtnut.com/l/_2nmiNaadt5JC
https://dl.doubtnut.com/l/_hnH7TMT0X6xM


38. The variable straight line  is such

that , a+b=10. Find the locus of the middle point of

that part of the line , which is intercepted between

the axes .

Watch Video Solution

+ = 1
x

a

y

b

39. The sum of the intercepts cut off from the

coordinate axes by a variable line is 14 units . Find

the locus of the point which divides internally the

portion of the line intercepted between the

coordinate axes in the ratio  .

Watch Video Solution

3: 4

https://dl.doubtnut.com/l/_hnH7TMT0X6xM
https://dl.doubtnut.com/l/_jsYcGrly1HuJ


40.  are

two given points and P is a moving point in the xy -

plane such that SP+S'P=2a . Find the equation to the

locus of P.

Watch Video Solution

S(√a2 − b2, 0) and S' ( − √a2 − b2, 0)

41. The coordinates of moving point P are

, where t is a variable parameter .

Find the equation to the locus of P.

Watch Video Solution

( , )
2t + 1

3t − 2

t − 1

t + 1

https://dl.doubtnut.com/l/_jsYcGrly1HuJ
https://dl.doubtnut.com/l/_xADm0OJQJT0T
https://dl.doubtnut.com/l/_nIhmjXk5r28C


42. The coordinates of a moving point P are

 where  is a variable parameter .

Show that equation to the locus of P is

.

Watch Video Solution

[6 secθ, 8 tan θ] θ

− = 1
x2

36

y2

64

43. If  is a variable and a is contant , then find the

locus of the point of intersection of the lines

.

Watch Video Solution

θ

x cos θ + y sin θ = a and x sin θ − y cos θ = a

https://dl.doubtnut.com/l/_qkjmZn7ScaDg
https://dl.doubtnut.com/l/_Iw3FXL9JNpMq


Exercise 1 Long Type Questions

44. Iine  intercepted between

the coordinate axes .

View Text Solution

x sin θ + y cos θ = p

1. The coordinates of the points A,B,C are (-2,1),(-1,-3)

and (3,-2) respectively . Show that , AB =BC and

 is a right angle If D is the fourth vertex of the

square ABCD , find the coordinates of D and also find

the point of intersection of diagonals of ABCD.

Watch Video Solution

∠ABC

https://dl.doubtnut.com/l/_rs1nyDhH8i79
https://dl.doubtnut.com/l/_4qUjiv80A45y


2. Find the lenghts of the medians of the triangle

whose vertices are (2,-4),(6,-2) and (-4,2).

Watch Video Solution

3. If (4,3) , (-2,7) and (0,11) are the coordinates of the

mid -points of the sides of a triangle , find the

coordinates of its vertices .

Watch Video Solution

https://dl.doubtnut.com/l/_4qUjiv80A45y
https://dl.doubtnut.com/l/_M3BxgtYIQoGs
https://dl.doubtnut.com/l/_E0QXqS3scWul


4. The line joining

 is

produced to the point M(x,y) such that

, prove that .

Watch Video Solution

A(b cosα, b sinα) and B(a cos β, a sinβ)

¯̄¯̄̄ ¯̄AM : ¯̄¯̄¯̄¯BM = b : a x + ytan = 0
α + β

2

5. A(-1,5),B(3,1)and C(5,7) are the vertices of the

. If D ,E and F are the mid - points of the sides 

 respectively , find the area of 

. Show also that , .

Watch Video Solution

ΔABC

¯̄̄ ¯̄¯BC, ¯̄̄ ¯̄¯CA and ¯̄̄ ¯̄¯AB

ΔDEF ΔABC = 4ΔDEF

https://dl.doubtnut.com/l/_L74MZOPc7gEi
https://dl.doubtnut.com/l/_YE2Vg7GsPqjX


6. The coordinates of A , B , C are (6,3), (-3,5) and (4,-2)

respectively and P is the point (x,y) , show that ,

Watch Video Solution

=
∣
∣
∣

∣
∣
∣

area of theΔPBC

area of theΔABC

x + y − 2

7

7. The points P,Q,R are collinear , if the coordinates of

P and Q be (3,4) and (7,7) respectively and 

unit , find the coordinates of R.

Watch Video Solution

¯̄̄ ¯̄¯PR = 10

https://dl.doubtnut.com/l/_xabwbPmMMyon
https://dl.doubtnut.com/l/_n9hbTQf5DXdB


8. The coordinates of the points A,B,C D are

respectively (6,3) , (-3,5) , (4,-2) and (x,3x), if

, find x.

Watch Video Solution

=
area of theΔDBC

area of theΔABC

1

2

9. The coordinates of the points A,B,C and D are (-2,3),

(8,9), (0,4) and (3,0) respectively . Find the ratio in

which the line -segment  is divided by the line -

segment .

Watch Video Solution

¯̄̄ ¯̄¯AB

¯̄¯̄¯̄CD

https://dl.doubtnut.com/l/_VVYELsHNrXtx
https://dl.doubtnut.com/l/_elQyP5vxJWqX


10. The coordinates of the points A and B are (3,4)

and (5,-2) respectively , if  and the area of

the  square unit , find the coordinates

of P.

Watch Video Solution

¯̄̄ ¯̄¯PA = ¯̄̄ ¯̄¯PB

ΔPAB = 10

11. The area of a quadrilateral is 28 square unit. If the

coordinates of its angular points be (-1,6) (-2,-4) , (3,-2)

and (a,b) , then show that , 2a+b=6 or , 2a+b=2

Watch Video Solution

https://dl.doubtnut.com/l/_m5pjHMIQ5CsX
https://dl.doubtnut.com/l/_sqwqx0Wo6omG


12. If  as well as  are in G.P. with the

same common ratio , then show that the points

 lie on a straight line .

Watch Video Solution

x1, x2, x3 y1, y2, y3

(x1, y1), (x2, y2) and (x3, y3)

13. Shift the origin to a suitable point so that the

equation  will not contain

the term in x and the constant term.

Watch Video Solution

2x2 − 4x + 3y + 5 = 0

https://dl.doubtnut.com/l/_8xJFI44ewjKa
https://dl.doubtnut.com/l/_YOjE7aU9RUo2


14. Find the point to which the origin should be

shifted so that the equation 

is reduced to the form .

Watch Video Solution

3y2 + 6y − 5x − 7 = 0

y2 = ax

15. Show that the distance between two points

remains unaltered by the translation of axes .

Watch Video Solution

16. Reduce the equation

 to the formx + y + 5 = 0 and x − 2y + 2 = 0

https://dl.doubtnut.com/l/_iopyBPTGEKo5
https://dl.doubtnut.com/l/_t5zNacmms2B5
https://dl.doubtnut.com/l/_MT17pTfnVEW3


ax+by =0 by proper choice of the origin and find this

new origin.

Watch Video Solution

17. Choose a new origin (h,k) (retaining the directions

of axes) so that the equation

 is reduced to the

form =1 . Also find the actual values of

A and B.

Watch Video Solution

5xy + y2 + 25x − 5y − 65 = 0

Ax' y' + By'
2

https://dl.doubtnut.com/l/_MT17pTfnVEW3
https://dl.doubtnut.com/l/_Tsb5bbHnfN71


18. Find the distance between the point

Watch Video Solution

(1 + √2, 1 − √2) and (0, 0)

19. Show that the straight line joining the mid -

points of two sides of a triangle is equal to half the

third side .

Watch Video Solution

20. Show that the straight lines joining the mid -

points of the opposite sides of a quadrilateral bisect

https://dl.doubtnut.com/l/_H32kaQpw721t
https://dl.doubtnut.com/l/_Ti5hZcrgNGpW
https://dl.doubtnut.com/l/_E2ECPKO4QwSn


each other .

Watch Video Solution

21. Prove analytically that the area of a triangle is

four times that of the triangle obtained by joining

the mid - points of the sides of the given triangle .

Watch Video Solution

22. Using analytical method prove that the mid -

point of the hypotenuse of a right angled triangle is

equidistant from the three vertices .

W t h Vid S l ti

https://dl.doubtnut.com/l/_E2ECPKO4QwSn
https://dl.doubtnut.com/l/_gNdCjeE7aqQO
https://dl.doubtnut.com/l/_fG05sIcsJeNh


Watch Video Solution

23. If two medians of a triangle are equal , prove

analytically that the triangle is isosceles .

Watch Video Solution

24. Using coordinate geometry prove that an

isosceles traigle has two equal medians.

Watch Video Solution

https://dl.doubtnut.com/l/_fG05sIcsJeNh
https://dl.doubtnut.com/l/_UuagwY75uD8U
https://dl.doubtnut.com/l/_czMj3ziKSGhL


25. D,E,F are the mid - points of the sides

 respectively of the triangle ABC ,

using coordinate geometry show that ,

.

Watch Video Solution

¯̄̄ ¯̄¯BC, ¯̄̄ ¯̄¯CA and ¯̄̄ ¯̄¯AB

3(BC 2 + CA2 + AB2) = 4(AD2 + BE2 + CF 2)

26. ABC is a right angled triangle right angled at B. If

P and Q are the mid - points of the sides

 respectively , then show that , 

.

Watch Video Solution

¯̄̄ ¯̄¯AB and ¯̄̄ ¯̄¯BC

4(AQ2 + PC 2) = 5AC 2

https://dl.doubtnut.com/l/_5frtOr5JlXI0
https://dl.doubtnut.com/l/_6uYTA73tMGU3


Sample Questions For Competitive Exams A Multiple

Correct Answer Type

1. Area of a traigle ABC is 5 sq . Units , slope of a

median through A is -2 and the coordinates of B and

C are (-1,3) and (3,5) respectively , then the distance of

A from origin will be -

A. 6 units

B. 4 units

C.  units

D.  units

Answer: A,C

2√2

3√2

https://dl.doubtnut.com/l/_46HzOxlEUAHt


Watch Video Solution

2. If B(1,3) be equidistant from the point A(6,-1) and

, then the value of  is /are -

A. 

B. 3

C. 5

D. 

Answer: A,C

Watch Video Solution

C(λ, 8) λ

−3

−5

https://dl.doubtnut.com/l/_46HzOxlEUAHt
https://dl.doubtnut.com/l/_4Hyo6eZZgsA2
https://dl.doubtnut.com/l/_q0SmrRAnGYLt


3. The base of an isosceles triangle ABC is the line

segment joining the points

, then the

coordinate of A is -

A. (a,b)

B. (b,a)

C. 

D. 

Answer: A,D

Watch Video Solution

B(a + b, b − a) and C(a − b, a + b)

( , )
a

b

b

a

(1, )
b

a

https://dl.doubtnut.com/l/_q0SmrRAnGYLt
https://dl.doubtnut.com/l/_y84KJatzPPRQ


4. A(1,2) and B(7,10) are two given points on the xy

plane, for a point P(x,y) in the xy - plane such that

, area of the triangle APB is maximum ,

then P is lying on-

A. the straight line 3x+4y=36

B. the any line which is perpendicular on AB

C. the line which is perpendicular bisector of AB

D. the circle which is passing through (1,2) and

(7,10) with radius 10 units.

Answer: A,C

Watch Video Solution

∠APB = 60∘

https://dl.doubtnut.com/l/_y84KJatzPPRQ


5. Point P divides line joining A(-5,1) and B(3,5) in the

ratio  . The coordinates of P and Q are (1,5) and

(7,2) respectively . If the area of the triangle PQR be 2

sq . Units , then the value of  is -

A. 

B. 

C. 23

D. 6

Answer: A,C

Watch Video Solution

λ : 1

λ

19

5

31

9

https://dl.doubtnut.com/l/_y84KJatzPPRQ
https://dl.doubtnut.com/l/_AC5l2CmCxLXF


Sample Questions For Competitive Exams B Integer

Answer Type

1.  are two vertices of a

triangle ABC and AB=BC . If the equation of the side

BC be  , then the area of triangle ABC is (in

sq . Units )-

Watch Video Solution

A(0, √2) and B(2√2, 0)

x = 2√2

2. Is the coordinate of the three vertices of a recengle

ABCD be A(1,0) , B (2,0) and D(-1,4), then the abscissa

of C is -

Watch Video Solution

https://dl.doubtnut.com/l/_ejwW82TIMo91
https://dl.doubtnut.com/l/_GUlJOBooZXIQ


Watch Video Solution

3. Let O(0,0) , P(2,0) and Q (6,0) be the vertices of

triangle OPQ . If R be a point inside the triangle OPQ

such that areas of  are

equal , then the abscissa of R is -

View Text Solution

ΔOPQ, ΔPQR and ΔOQR

4. (0,0) , (0,21) and (21,0) are the vertices of a triangle

. If there are  number of points inside the triangle

having coordinates as integral value , then the value

of x is -

Watch Video Solution

95x

https://dl.doubtnut.com/l/_GUlJOBooZXIQ
https://dl.doubtnut.com/l/_aCtS8hKQoiat
https://dl.doubtnut.com/l/_uYS90LhfPatW


Sample Questions For Competitive Exams C Matrix

Match Type

Watch Video Solution

5. The vertices of the triangle are (0,0) , (3,4) and (4,0)

. If the coordinate of its orthocetre be  , then

the value of x is -

Watch Video Solution

(3, )
x

4

1. Find the distance between the point

Watch Video Solution

(√3, 4) and (0, 0)

https://dl.doubtnut.com/l/_uYS90LhfPatW
https://dl.doubtnut.com/l/_LA0hwjvmugRw
https://dl.doubtnut.com/l/_dj3OLoJTcKZl


Sample Questions For Competitive Exams D

Comprehension Type

2. Find the distance between the point

Watch Video Solution

(11, 9) and (7, 2)

1. Let us consider one vertex and one side through

the vertex along x -axis of a triangle . Now the

coordinates of the vertices B,C and A of any triangle

ABC (0,0) ,(a,0) and (h,k) respectively should be taken .

https://dl.doubtnut.com/l/_dj3OLoJTcKZl
https://dl.doubtnut.com/l/_zAkXLiKag9Kt
https://dl.doubtnut.com/l/_khaeFroG53la


If in triangle ABC , AC =3 ,BC=4 and median AD is

perpendicular with median BE , then the area of

 is -

A.  sq . Units

B.  sq . Units

C.  sq. units

D. none of these

Answer: B

Watch Video Solution

ΔABC

√7

√11

2√2

https://dl.doubtnut.com/l/_khaeFroG53la


2. Let us consider one vertex and one side through

the vertex along x -axis of a triangle . Now the

coordinates of the vertices B,C and A of any triangle

ABC (0,0) ,(a,0) and (h,k) respectively should be taken .

If internal bisector of angle  of the triangle ABC

intersects BC at D such that BD =4 and DC =2 then -

A. 

B. 

C. 

D. none of these

Answer: C

∠A

AC > 6 and AB > 4

2 < AC < 6 and AB < 1

2 < AC < 6 and 4 < AB < K

https://dl.doubtnut.com/l/_Eyu9FnhSNOIW


Watch Video Solution

3. Let us consider one vertex and one side through

the vertex along x -axis of a triangle . Now the

coordinates of the vertices B,C and A of any triangle

ABC (0,0) ,(a,0) and (h,k) respectively should be taken .

If the altitude (AE) of the triangle in question (ii)

greater than  and the lenght of AB and AC are of

integral value , then the lenght of AC is -

A. 3

B. 6

C. 4 or 5

√10

https://dl.doubtnut.com/l/_Eyu9FnhSNOIW
https://dl.doubtnut.com/l/_686QpvEjDG2Q


D. none of these

Answer: C

View Text Solution

4. Let ABCD is a square with sides of unit lenghts .

Points E and F are taken on sides AB and AD

respectively so that AE =AF . Let P be a point inside

the square ABCD. 

The maximum area of quandrilateral CDFE will be -

A. 

B. 

1

8

1

4

https://dl.doubtnut.com/l/_686QpvEjDG2Q
https://dl.doubtnut.com/l/_V3T4wQTM4XFo


C. 

D. 

Answer: C

Watch Video Solution

5

8

3

8

5. Let ABCD is a square with sides of unit lenghts .

Points E and F are taken on sides AB and AD

respectively so that AE =AF . Let P be a point inside

the square ABCD. 

The value of  is

equal to -

(PA)2 − (PB)2 + (PC)2 − (PD)2

https://dl.doubtnut.com/l/_V3T4wQTM4XFo
https://dl.doubtnut.com/l/_5cYGoQA712I0


A. 3

B. 2

C. 1

D. 0

Answer: D

Watch Video Solution

6. Let ABCD is a square with sides of unit lenghts .

Points E and F are taken on sides AB and AD

respectively so that AE =AF . Let P be a point inside

the square ABCD. Let a line passing throught point A

https://dl.doubtnut.com/l/_5cYGoQA712I0
https://dl.doubtnut.com/l/_Feg5mlUgR0mO


Sample Questions For Competitive Exams E Assertion

Reason Type

divides the square ABCD into two parts so that area

of one part is double to another , then lenght of the

line segment inside the square is -

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

√10

3

√13

3

√11

3

2

√3

https://dl.doubtnut.com/l/_Feg5mlUgR0mO


1. Consider two point  and  in the 

plane . P is a point divides the line segment 

externally in the ratio  .Find the co ordinate of P.

Watch Video Solution

A(2, 5) B(3, 4) XY

AB

2: 5

2. Consider two point  and  in the 

 plane . P is a point divides the line segment 

externally in the ratio  .Find the co ordinate of P.

Watch Video Solution

A(1, − 1) B(3, 2)

XY AB

1: 2

https://dl.doubtnut.com/l/_RNoPhIx3P5CO
https://dl.doubtnut.com/l/_47qYb2qqIIQI

